Algebra II




Name _____________________________________
2.3-2.4 Quiz
 - Form A


Date _______________________ Hour __________
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Please show all work! Circle or box in your answers.

2.3.1: 
1.  Determine the slope of the line that passes through (–4, 11) and (–10, –10). Express as a

     fraction in simplest form. 
2.  The table shows the depreciation of a machine, purchased in 2000 at a cost of $15,600,  

     over a period of 8 years.

	Year
	2000
	2003
	2008

	Cost
	$15,600
	$7500
	$2800


     a. Find the average rate of change in value of the machine between its purchase and the

         end of 3 years.
     b. Find the average rate of change in value of the machine between the end of 3 years

         and the end of 8 years.
3.  Determine the value of r so that the line that passes through (7, r) and (4, –9) has a slope 

     of 12.
2.4.1:

4.  Write an equation in point-slope form for the line that has a slope of –2 and passes
     through (6, –7).

2.4.1 (cont.)

5.  Write an equation for the line that passes through (–3, 1) and (3, 5). Express your
      final answer in slope-intercept form.
6.  Write an equation for the line that passes through (–6, 5) and (4, –1). Express your
      final answer in standard form.
2.4.2:

7.  Write an equation for the line that passes through (–4, 2), parallel to 
[image: image1.wmf].
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      Express your final answer in slope-intercept form.

8.  Write an equation for the line passing through (3, –8), perpendicular to the line that
      passes through (–9, –5) and (–6, 4). Express final answer in slope-intercept form.
9.  Write an equation for the line that passes through (7, –2), perpendicular to the line with
      x-intercept –4 and y-intercept 5. Express final answer in slope-intercept form.
PREVIOUS KNOWLEDGE:

10. Which equation is linear?
       a. 
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  b. 
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c. 
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d. 
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11. State the domain and range and determine if the graph 

      is a function.

      Domain: ____________
Range: ____________
      Function:  YES   or   NO

12. Solve for x:  
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Scoring:


2.3.1 – Find the rate of change (slope) for a linear relation using tables, graphs,


            equations, and ordered pairs.								__________


2.4.1 – Write the equation of a line in point-slope form and slope-intercept form. 		__________


2.4.2 – Write the equation of a line parallel or perpendicular to a given line.		__________


PK – Previous Knowledge									__________
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